
C C

section view C-C

B detail B
9,4

 0_23mh_45a-100ip20.dftnum modification date name

Dimensions without
tolerance statement
against DIN ISO 13920b

dev.for:

date name

plot

che.

DIN

scale: 1: weight: kg

dev.by: CAD-File

 

 

Mestermann
description:
 du/dt filter
45A   L=23mH   Cy=3,4nF  

14.08.06

 "This document may not be duplicated without
our written authorization. The contents may be
neither left to a third party nor used for other
unlawful purposes. Contraventions are oursued."

FS21293-45-99
130B2424

Tietze04.08.08

A Drawing modified 04.08.08 Tie.

projection DIN A4

A
detail A

285

26
0

12
0

±2

312 ±2

terminal
STB-50

170

  O
919

O

12

9

13,5

5

404

12
0

177



 0_23mh_45a-100ip20.dftnum modification date name

Dimensions without
tolerance statement
against DIN ISO 13920b

dev.for:

date name

plot

che.

DIN

scale: 1: weight: kg

dev.by: CAD-File

 

 

Mestermann
description:
 du/dt filter
45A   L=23mH   Cy=3,4nF  

14.08.06

 "This document may not be duplicated without
our written authorization. The contents may be
neither left to a third party nor used for other
unlawful purposes. Contraventions are oursued."

FS21293-45-99
130B2424

Tietze04.08.08

A Drawing modified 04.08.08 Tie.

projection DIN A4 9,43

U1

V1

W1

U2

V2

W2



Pos Benennung Material Werkstoff Meng
e

Gewicht Dateiname

1* Winkel rechts du/dt 45 A Blech 3 109x3 x 330 St1202 verzinkt 1 0,65 0_23mh_45a-210.psm

2* Winkel links du/dt 45 A Blech 3  109x3 x 330 St1202 verzinkt 1 0,65 0_23mh_45a-201.psm

3* Zylinderschraube mit
Schlitz /Kreuz

M4x10 5.8 4 0,002 m4x10.par

4* Warnschild W26-02 Polyethylen 2 0,000 w26-02.par

5* Scheibe DIN 125
B6,4-St

B6,4 ST A2C 12 0,001 scheibe b 6,4 din
125-st.par

6* Isolierbuchse Gr.6 PE 12 0,005 ø8x17-fuer-m6.par

7* U-Scheibe DIN125 -A4,3 St A2C 12 0,005 scheibe b 4,3 din
125-st.par

8* Sechskantschraube DIN
933

M6x60 8.8 verz. 6 m6x60.par

9* Sechskantmutter  DIN
934

M6 8 A2C 7 0,003 sechskantmutter
m6.par

10* Anschlussblock STB50 690V / 150 A 6 0,052 stb50.par

11* Haube du/dt Blech 1,0  286 x 256 x
170

St1202
pulverbeschicht
et

1 1,83 75a-0_08mh-250.psm

12* Befestigungswinkel für
Klemmen

160x3 x 310 St1202 verzinkt 1 0,6 0_23mh_45a-246.psm

13* Typenschild Danfoss 70 x 70 Pe 1 0,000 danfoss.par

14* Jochpaket 30x150 SH 29,5 VM111-35A 1 0,971 0_23mh_45a-307.par

15* Kernpaket U 120x150 SH29,5 VM111-35A 1 2,787 0_23mh_45a-306.par

16* Luftspalt 30x0,35 x 150 Nomex 1 0,000 0_23mh_45a-308_lufts
palt.par

17*  Druckstueck Form D D56 AlMg5 (3.3354) 6 0,012 kg druckstueck_formd_56-
ui90-3ui90.par

18* Spulenkörper UI90a-31,5 3 0,038 spulenk-ui90a-31_5.par

19* 3 0_23mh_45a-116.par

20* Kabelschelle Danfoss Typ 130B4045 2 0,011 kabelschelle-danfoss-1
30b4045.par

21* Masseanschluß Loch: 4,5 mm - Typ 1 St 1202
verzinkt

2 0,001 29mh2_5a-216-vorschl
ag2.psm

22* Möbelgriffschraube M4 x 20,
Kombi-Kreuzschlitz

St verz. 6 0,002 moebgrschr-m4x20-st.p
ar

23* Curved spring washer Ø4,5 x 2 Federstahl A2K 2 curved spring
washer-d4-2.par

24* Schraube M4x9 2 m4x9-din 6900-5.par

25* Washer DIN 6908 Ø4x St   Fe/Zn8c1B 2 washer din
6908-d4-2.par

26* Kabelhalterung IP20 Blech 3,0 x 120 x 83 x
48

St 1202
verzinkt

1 0,32 1_5mh_48a-450.psm

27* Kontaktscheibe Ø6 ST 6 0,001 kontaktscheibeø6.par

28* Zylinderschraube - DIN
84

M3x10 St  verzinkt 2 0,001 m3x10.par

29* Typenschild 45x25 Polyethelen 1 0,000 Typenschild_0_23mh_4
5a_ip_00.par

30* Zylinderschraube mit
Schlitz /Kreuz

M4x10 5.8 verz. 12 0,002 m4x10.par

31* Typenschild 45x25 Polyethelen 1 Typenschild_0_23mh_4
5a_ip_20.par

32* Quetschkabelschuh 2,5 - 6 qmm - A6 vz Ms verz. 1 0,002 3_1mh_17a-371.par

33* LITZE HEL UL-CSA
600V

AWG 10 60813
grün/gelb 0,300 mtr.

Cu 1 0,006 3_1mh_17a-370.par

34* Flachsteckhülse, nicht
isoliert

6,3mm - 2,5qmm -
6,0qmm

Ms verz. 1 0,001 3_1mh_17a-372.par

35* Scheibe Ø 3,2 Ø7 x 0,5 St verzinkt 2 0,000 scheibe b 3,2 din
125-st.par

36* Gehäuse mit
Befestigungslaschen

WZ6275    EI78/27,5 PE 1 0,037 wz6275.par

Pos Benennung Material Werkstoff Meng
e

Gewicht Dateiname

37* Kondensator 6,8 nF
1250VDC/600VAC

18 x 8 - 15 hoch 6 0,01 kondensator-fkp1-6_8nf
.par

 0_23mh_45a-100ip20.dftnum modification date name

Dimensions without
tolerance statement
against DIN ISO 13920b

dev.for:

date name

plot

che.

DIN

scale: 1: weight: kg

dev.by: CAD-File

 

 

Mestermann
description:
 du/dt filter
45A   L=23mH   Cy=3,4nF  

14/08/06

 "This document may not be duplicated without
our written authorization. The contents may be
neither left to a third party nor used for other
unlawful purposes. Contraventions are oursued."

FS21293-45-99
130B2424

projection DIN A3

Tietze04.08.08

A Drawing modified 04.08.08 Tie.

2 9,4


